N = 0l & AF & F Al A

SN BYBS
Hu: [eley 25
cel: Xjole 2Xe (e @e
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F oK Ol AF o8 BlusZ
BHLS D 12,155,577 12,749,506 593,929
=2 1,171,933
= 400,000
= 1,036,477
Al 9,547, 167
Roisy 25 1,111,065 348,560 762,505
= 27,333
= 400,000
= 194,477
Al 489,255
Roisy 2 He 1,004,433 236,780 767,653
=l 400,000
= 186,660
Al 417,773
MEIRRE A 50,000 50,000 0
= 50,000
101 0121 4| 36,000 36,000 0
= 36,000
041 2H2ZNS B4 36,000 36,000 0
OMHBYBEINAZA 22X 24 35,000
= 35,000
OMEIZBERENS AT A= 1,000
= 1,000
201 YLet2 bl 6,000 6,000 0
= 6,000
01 AtR 22l H| 5,400 5,400 0
OMEIFZEENY el 29| 5,400
= 5,400
02 22| 600 600 0
OSSET 2AEA FIIQ3
50,0002 * 12042 600
= 600
301 LprE Az 6,000 6,000 0
= 6,000
10 SAFAIHI 24 2 6,000 6,000 0
OMBZBEINY 2LH 28 42 6,000
= 6,000
401 A& LS THY| 2,000 2,000 0
= 2,000
01 Al&HI 2,000 2,000 0
ONIBHLH O|2ALS M| 2,000
= 2,000
MEPDEEN A DASS 3,600 4,500 £900
202 01t 3,600 4,500 £900




SN BEESY
M Qe 95
CHol: Tjols BETe R
) _ . (e ~
SA - BE - BA(EA) - NRAY - BES 0] & 08 i HRE2
01 WA 3,600 4,500 A 900
OMEIZBLSENS LAICHS 3,600
ZESILANL 23 79,919 95,560 215,641
= 16,660
Al 63,259
101 @124 H| 79,919 95,560 215,641
= 16,660
Al 63,259
04 JI1ZtHNZ22 XS E+ 79,919 95,560 A 15,641
OURBALAY 221 24 76,919
L= 15,760
Al 61,159
OARSBALAY BT L W= 3,000
L= 900
Al 2,100
Aot MEHH Y 7,200 9,504 A2,304
201 L EH2FH| 7,200 9,200 A2,000
01 AtR2tel 7,200 9,200 22,000
OMEN SHAIL 2A=EY 7,200
2 2 KRS & A 1,910 1,910 0
201 get2dd| 1,000 1,000 0
03 At2 G| 1,000 1,000 0
Otz @ 7ol o Il 1,000
301 et a3 910 910 0
10 HAAHIE A= 910 910 0
O#ZOl o JGsA Al
75,8003 * 6% » 2& x 13 910
SECH =4 61,804 75,306 213,502
202 (4l 1,944 2,000 N56
01 SLHA bl 1,944 2,000 A 56
OXgolH ¢2za 1,944
301 Et2 a3z 4,860 5,306 A446
10 HAIAHIE &3 4,860 5,306 AN446
OsETY 259 A
81,000& * 8Y¥ * 2& » 13 1,296
OstEBE IS A
81,000& * 8Y¥ * 3& » 13 1,944
OXNHESKERA 312 HFAWH
81,000& » 10 » 1 * 23] 1,620
307 21Ztol ™ 55,000 68,000 A 13,000
0B A HAEES 50,000 58,000 28,000
O&A - 2#E20F AIHMELS 50,000




SN BE2E
M [els 25
el RolE 2E SIRECED)
_ _ rSIEL== =
N Z3 . CA(ZAH) - MPAY - BES Aol Ol Ak O =
04 DI2H8H AL 5,000 10,000 A5,000
Oxtet=diel 2st8A X 5,000
FEEEEp 92 A3 800,000 0 800,000
3 400,000
= 120,000
Al 280,000
401 A2 HIL S 0] 800,000 0 800,000
=l 400,000
= 120,000
Al 280,000
01 Al &bl 794,991 0 794,991
OME - ZBE 2 U MEHESR A%
Al 794,991
3 400,000
= 120,000
Al 274,991
03 Al & STl 5,009 0 5,009
OME - HUASE 9 MEjE
IE=RE R 00024 * 5,009
sagne 69,336 69,280 56
= 14,333
= 7,817
Al 47,186
TE OHMES 25 - B 11,170 13,213 A2,043
201 LBr2 | 5,778 6,413 ~635
02 22| 5,778 6,413 AB35
03222 2 MA 1,150
cEANLLLD 300
oXEABEE 850
OxEs| 4,628
ol 3,428
XNzl 1,200
202 01 Hl 2,502 3,000 A 408
01 2LHOI ] 2,502 3,000 A408
OO0 S S 2,502
206 T 2l 1,000 2,000 A1,000
01 HZ bl 1,000 2,000 A1,000
SEESIPY! 1,000
301 YEHB A 1,800 1,800 0
12 JlE A2 1,800 1,800 0
SL[E T 30,0002 * 1002] * 63] 1,800
MEAZ2 Tl 40,666 41,400 AT34
=2 14,333




2 2EES
d: joEE B35
£ro: oS A B2 @
B . M. CHe (5 HEAY . B2 Al OH HEE =}
& 2,867
Al 23,466
301 etz azd 12,000 10,000 2,000
12 J|Et2 &3 12,000 10,000 2,000
o0l ES= JISHHME E5E 12,000
402 Q12+ X201 ™ 28,666 31,400 AN2,734
= 14,333
= 2,867
Al 11,466
01 Qb= X 28,666 31,400 AN2,734
O0tMESE UloHolEAS 28,666
= 14,333
= 2,867
Al 11,466
OHsSAZE 25 17,500 14,667 2,833
& 4,950
Al 12,550
301 LEE A= 1,000 1,000 0
12 J|Et2 43 1,000 1,000 0
OZg ZLoef Al ZTANF 1,000
302 OI=LTHoH 2 &2 16,500 13,667 2,833
= 4,950
Al 11,550
02 QI2toITHOH 2 &2 16,500 13,667 2,833
OOfM==0l 2et =&Z L2 XA 16,500
& 4,950
Al 11,550
BZII=HY 10,296 7,500 2,796
BEIGAAE 2F2e 9,000 6,000 3,000
201 B2 | 9,000 6,000 3,000
01 At 2teltl 9,000 6,000 3,000
OSIBIAIAE(EMS) AtZ 22| A AR 5,000
OstZBZIAIAE(EMS) 22l 4,000
3dllz 32 =& 1,296 1,500 A 204
202 44| 1,296 1,500 AN 204
01 SLHA b 1,296 1,500 AN 204
Ogtdlls 328 ¢l 1,296
IISHIIHSER 27,000 35,000 A8,000
= 13,000
Al 14,000
JIZHsiE gRFA 13,000 15,000 A2,000
6,000

= W

7,000
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CHel: J|=HAHSYR o @a)
M- ®=Z . Che (5 HALO . HA D Al OH HEE =2}
201 LBr2g | 1,000 0 1,000
01 At 2teltl 1,000 0 1,000
OJIsdHet2te 222 ME 1,000
301 B2 A= 12,000 15,000 A 3,000
= 6,000
Al 6,000
12 J|Et2 &3 12,000 15,000 A3,000
OEAIQIE QIMEIE XI&A 12,000
= 6,000
Al 6,000
JBIAEE UERIRY 843 X3 14,000 20,000 A6,000
= 7,000
Al 7,000
307 @12+01 & 14,000 20,000 A6,000
= 7,000
Al 7,000
02 DIt JAB X 14,000 20,000 26,000
OB AEE HYMUHERZ 22 14,000
= 7,000
Al 7,000
MEDoH 22 46,106 40,466 5,640
CHOIE 22l 22,894 10,920 11,974
MoIE=2 HHiEAMgE 22 22,894 10,920 11,974
201 B2 HH| 3,520 6,040 A2,520
01 At 2teltl 2,500 4,000 A 1,500
OZXE 222 M 500
Ostd2d =FEH HTZA =25 1,000
Olf=dEg 225 ¢ 1,000
02 E=2gHl 1,020 2,040 A 1,020
OtIIsd &Y RXH(6T) 1,020
202 44| 4,374 4,880 A506
01 SLHA b 4,374 4,880 A506
O3 Esgs NEEZ 4,374
405 RHebFE S HI 15,000 0 15,000
01 AL =S F=HI 15,000 0 15,000
OfH=EI| 7 15,000
BEEM2 UM 25t 23,212 29,546 A6,334
ZNERE3 2 - = 22,212 28,546 26,334
101 el24d| 8,456 8,895 A439
04 JI12HHZ22NSES 8,456 8,895 A439




N Z3 . CA(ZAH) - MPAY - BES Aol a4 Hlw &2
o= T ° . [= Bl e =5 O:H{ﬂ,% Lsa
OsHBINEREZ A= AR 8,456
SPIRt= 36,6403 * 6% * 30 6,59
S 36,6402 * 62 * 62 1,320
o 2tAH| 3,000& » 6% » 30 540
201 LEH2FH| 12,460 18,200 A5,740
01 AR 2teld| 4,460 6,200 A1,740
OstEMNEREZ DXA I
703 * 25,000& * 23l 3,500
OstAMEREZ =222 (XNSOIM, LA
I AEIE) 80,000& * 123] 960
02 2323l 8,000 12,000 24,000
O3z 2ERS
2503 = 8,0000H * 43| 8,000
202 bl 1,296 1,451 A 155
01 SLHA b 1,296 1,451 A 155
OstFNEREZ 210t & 2 F4 1,296
gdgan Ba 1,000 1,000 0
301 et A3 1,000 1,000 0
12 J|Et2 432 1,000 1,000 0
Ostgdegan 243 50,000& * 209 1,000
& ESINCRS| 709,872 212,403 497,469
Ct23t& Al ot 0| 159,942 154,060 5,882
= - 21013 & A ZUIAY 30,270 30,270 0
401 A& HIZ 20HYI 30,270 30,270 0
01 A& HI 30,000 30,000 0
Olts=sstEd 3 10,000
O 0lst&E4 JHl 2 &= 20,000
03 Al& 2 0HHI 270 270 0
Ost&EAFHIAY 208l
30,000,000& = 0.9/100 270
= - 210 SHEA 22 129,672 123,790 5,882
201 LBr2gH| 23,160 24,910 21,750
01 At 2teltl 20,660 21,910 A 1,250
O35 ¥ 20l & A S22l (60IHA) 3,000
O20I3t& 4 OlS&Ex dxtz
300,000& * 13= 3,900
O==H HAY 2UILSEA Xtz
2,200,000% * 6= 13,200
O3=st&EY 2 N=R3e o9&+
70,000& » 8H = 13 560
02 E=2gHl 2,500 3,000 A500
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SN B#ASSD
2 FHLE 2
Sl AREAINM (25l &2
_ _ SIEN
SH-EH . C(BH) - NRAY - BES O AF o8 il i~ o bRz
SEECIEETEICEIEEET
81,0002 * 4% + 2 * 13| 648
sEQAEYH 29 5,822 6,635 £813
201 Yere gt 800 1,200 A400
01 At 22|t 800 1,200 £400
O+zEegsgMT2 2| 800
202 04t 5,022 5,435 A413
01 =2 LHA bl 5,022 5,435 A413
O+HYS UM 50 &4
81,0002 * 2% + 3 * 53| 2,430
O84Sy 7 JI22Y ¥ cogAne
5| & & 81,0002 * 2% + 2 * 83| 2,502
SHPY AQT 22 8,116 9,719 A1,608
201 YEr2 Y| 6,658 8,198 A1,540
01 At 22|t 4,258 5,558 £1,300
OMQUBHEHRIAIL £EAA 242
8,6002 * 28074 2,408
OEYRHET AALLR 650,008 * 142 650
OBSIZHA QHUSMN R
1002 * 12,0004 * 13 1,200
02 ZZ2YH| 2,400 2,640 A240
OFSZEA GUAN SBRD
2502l * 800D} * 128 2,400
202 04t 1,458 1,521 A63
01 2UH0i b 1,458 1,521 A63
OB ALY NEH 1,458
5 & A EH Z AL 2,202 2,702 AB00
202 048 1,198 1,198 0
01 201 b 1,198 1,198 0
OBH & MEH T AL 1,198
206 T2t 500 1,000 A500
01 T2t 500 1,000 A500
OB A MENZ AL &I 7L
50,0008 * 2 * 5} 500
301 YBHE LS 504 504 0
10 8 AFALH| 2 4 2 504 504 0
OSIAMEN2LIEZ ZAK SAH]
7,00020 * 8% + 93l 504
GSALAT 22U SAAY 502,774 3,470 499,304
201 Yere gt 830 1,470 A640
01 At 22|t 830 1,470 640




SN SA2SD
U FELE 2
SHel: ST AN EERED

SN I SRI(S) - NRAY - B 0fl b Soe B RS2
Okdotd MEI=3AMY 2 g2z 23 830
202 (44l 1,944 2,000 A56
01 =2 A b 1,944 2,000 A 56
OMEI=Z A Y2 XX
81,000& * 2 * 2& * 63 1,944
403 XX SHHE =0l & 500,000 0 500,000
02 B3I 2SI CHEHCH &AM I 500,000 0 500,000
Odsd 22X =22 =SIAMNY £HEY 500,000
HII= X 7,324,359 9,057,921 A 1,733,562
= 1,144,600
o= 842,000
Al 5,337,759
MEHIIS =H 22l 1,374,046 1,291,144 82,902
= 4,600
Al 1,369,446
SIUHEZ 23 20,273 20,674 A 401
101 @124 H| 11,273 10,674 599
04 JIZtH2 2 S E+ 11,273 10,674 599
Ostd & JI2H 2#Z F | 11,273
=Jl=g 36,6403 * 8YH » 30¢ 8,794
oFsd 36,6403 » 8 6 1,759
o 2+HANH| 3,000& » 8% » 30 720
201 ZEt2FH| 1,000 2,000 21,000
01 AtR2tel 1,000 2,000 A 1,000
O=EEZz2=2s F4FH 2 1,000
203 P =&l 8,000 8,000 0
03 AIZHF= &R A 8,000 8,000 0
OZSeHH=A 8,000
HFAZH |2 238,577 227,158 11,419
101 21 24H| 11,742 11,118 624
04 JIZHNIZ22XRHSE+ 11,742 11,118 624
QHIIZ =HEI Eax 224 B 11,742
SP==1 36,6403 * 50H * 5 9, 160
oFFd 36,640 » 50H » 1 1,832
o 2+AlY] 3,000& » 50H = 52 750
201 get2Ad| 225,215 214,360 10,855
01 AR 2 2ldl 4,000 5,000 A 1,000
O&EAEAH 7Y 8,000&  5& 1004 4,000
02 2324l 221,215 209, 360 11,855
o322 % HA 11,414




SN
X XH .
S Tt

el

M- (B H) - HEAY - B2 AF ol &EIE =
ocHAXE SEEER 630,000& = 13CH 8,190
CHAXIE BAMLTED
2,000& + 13CH * 23] 1,352
oHAXE GPS 2=
12,0002 = 13CH = 12& 1,872
OF A X2l (130H) 206,801
cHAXNYE R 93,7324 = 1,707& 160,001
cHANY QKB
300,000& * 13CH * 123 46,800
(OINF=F-IsIE=N]s] 3,000
o2Z0IstA oA 400,000& = 5 2,000
ocHAE &2 =2l 100,000& * 10CH 1,000
202 o4 4| 1,620 1,680 60
01 = LHOd B 1,620 1,680 260
OFAZEH| Xl gL2=4 1,620
HOIZ2 §J1 & MEE XNE - 3L 2,916 3,360 N444
202 44| 2,916 3,360 N444
01 = LHO HI 2,916 3,360 N444
OHDIE &1 & MEE NEEZ 2FA 2,916
sZ0lsta 22l 10,000 14,900 24,900
201 82| 1,000 2,500 A 1,500
03 A2 H| 1,000 2,500 A 1,500
Ostd0Istd FEE LA 1,000
SRR 200,000& * 29Y 400
SWIE=E 300,000& * 29 600
301 2 AZ 5,000 7,400 A2,400
10 HAIAHI B &= 5,000 7,400 A2,400
Ostgolstd M=us 4,000
OS2 A Z2&A Oyl
200,000& * 1Y = 53] 1,000
405 RtabFE S| 4,000 5,000 A 1,000
01 AL ESFHEHI 4,000 5,000 A 1,000
OADIGA =SEE AMRIII & vE3FY 4,000
223 4 A 53,329 114,441 AB1,112
= 400
Al 52,929
201 823 600 2,200 A 1,600
01 At 22| 600 2,200 A 1,600
OMNMEEE =HEH X2
300,000& * 2& * 13| 600
202 44| 729 841 A2
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FA B2
M HoI=EH
el MEHIIZ =M 2el

S BB SR (B) - NEAY - BAS 0f & o Soe DB
01 = LHAObI 729 841 A112
ongss g2xd 729
206 M =4l 10,000 10,000 0
01 X =l 10,000 10,000 0
OMgsE =0t g 2,000& * 5,0000H 10,000
301 et a= 42,000 101,400 59,400
=2 400
Al 41,600
2IIEtEa= 42,000 101,400 259,400
ONeES FEd= 1,200,000& * 35& 42,000
= 400
Al 41,600
SASFHIIS 22 12,212 15,464 N3,252
202 04l 2,268 2,520 N252
01 = LHAOHI 2,268 2,520 N252
OSASRHIIS 28 A2EF 2,268
206 XH = Hl 8,000 8,000 0
01 =4 8,000 8,000 0
OSASRHIIZ KNS S3H 7
4,000& = 2,0004 8,000
307 212+01 A 1,944 1,944 0
05 212t &= 1,944 1,944 0
OSAMEFHIIS2CIAAE S 2]
16,200,000& * 12/100 1,944
Meldl SEH 2 158,320 106,220 52,100
201 dEt=2 S| 6,200 2,400 3,800
01 AtR2telH 6,200 2,400 3,800
OFN=F = 1002 * 2,000& 200
OMEE ¥ BTH 222 N 6,000
206 X =4l 108,720 83,020 25,700
01 =4 108,720 83,020 25,700
oMl SZMESE M 108,720
oaAZ(HIRE ZE 87,500
-104 46% * 100,000% 4,600
-20 4 673 = 500,000 33,500
50 ¢ 1318 = 200,000% 26,200
-100 £ 232& = 100,000% 23,200
ol E(HtRE X&) 9,000
-10¢ 463 + 50,000& 2,300
- 204 672 = 100,000 6,700
o338 (HRE H8) 4,940
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CMEHIIE =H 2

_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES e 'oﬂ/'\_FOH Hlws2
50 ¢ 13120 * 20,000% 2,620
100 £ 23221 * 10,000% 2,320
CSAESRHIIZ 2HE(LREE) 3,280
-31 242 * 40,000% 960
51 242 * 30,000% 720
20 4 402 * 10,000% 400
60 ¢ 402 * 10,000% 400
-120 4 402 * 20,000% 800
c2od O 4002 * 10,000% 4,000
207 R | 20,000 0 20,000
01 eimE ol 20,000 0 20,000
OHASFNYT AP MBS 20,000
307 DI12+0| & 23,400 20,800 2,600
05 QI2tIEr2 23,400 20,800 2,600
OZYNEE B2 W42
520,000,0002! * 4.5/100 23,400
HIIZ +X28 £22 Hg2d 622,561 622,561 0
307 @120l & 622,561 622,561 0
05 2I2t9IEra 622,561 622,561 0
OMEHIIS +8 - 28 242 HELH
51,0002 * 18.3E * 308 287,457
OSASBHIIZ 4T - 28t 242 HIg2L2d
80,0008 * 13.6 * 308Y 335, 104
SXHIIS e 10,108 20,216 ~10,108
401 Al&HI 2L 2] 10,108 20,216 ~10,108
01 Al&H| 10,000 20,000 ~10,000
O SXIEIIE Mel(14) 10,000
03 Al S8 108 216 ~108
O LXBIIS Hel 2l
10,000,0002 * 1.08/100 108
HARH =& 231,500 139,500 92,000
206 X 2| 31,500 39,500 ~8,000
01 K24l 31,500 39,500 ~8,000
OQIEH AXI8I| 7Y 300,0002 * 30H 9,000
OZHEE 448 2 500,008 * 157 7,500
SASHIIS £H8I1 50,0008 * 10074 5,000
OMERE 22/4H=I 100,000 * 10074 10,000
405 XA S| 200,000 100,000 100,000
01 AL SZ 5 S| 200,000 100,000 100,000
OFARY DY (LERE)
100,000,0002! * 2CH 200,000
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S SRS
Z: Hol2He

CHell MBHIIZ £ 2l (£ @)
- _ - HE
SN B SR(BH) - NRAY - BES 0f - o i HRS2
Hgnois 22l 5,850 6,650 A800
201 et 3,000 3,800 A800
01 At 22l 600 1,400 A800
OUEHII= POA EAl HMZ 3008 * 2,000 600
02 324l 2,400 2,400 0
OPDA & GPS S8I2= 200,000& = 123 2,400
307 12+01 & 2,850 2,850 0
05 eI2tAAE = 2,850 2,850 0
OUEHII2 Z22lAAE X2
19,000,000& = 15/100 2,850
=d0lE MelX& 8,400 0 8,400
= 4,200
Al 4,200
402 212+ A= 01 & 8,400 0 8,400
= 4,200
Al 4,200
02 QI 2+CH & AL H 8,400 0 8,400
OBOIEHI AR AL 8,400
= 4,200
Al 4,200
HIIE XMelA&E 232l 5,950,313 7,766,777 A 1,816,464
= 1,140,000
= 842,000
Al 3,968,313
Has dE2Ad 29 82,347 50,713 31,634
101 Q1A H| 53,647 20,013 33,634
04 12 N22NESE+ 53,647 20,013 33,634
OMES HEXy 22T 24 53,647
oJlZs 36,6403 » 108 * 115 42,136
oFxssd 36,6403 » 10¥ » 22 8,061
o 24| 3,000 = 10& * 115 3,450
201 dEt=2 S| 3,000 5,000 A2,000
02 S&5=gH 3,000 5,000 /2,000
OMES 88T B 21
1,000,000& » 38 3,000
206 Xi 2t 5,700 5,700 0
01 X =dl 5,700 5,700 0
OMgE MelAE ExHE 7Y 5,700
ocasd FY 1,500,000& * 1& * 33 4,500
oEW Y 6,000& = 2000H 1,200
401 Al HIRL S HHI 20,000 20,000 0
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SN
X XH .
S Tt

el

SH3ES
HII=2Xc
HOIE2 MelAld 2322

SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
01 Al Hl 20,000 20,000 0
ONEESE ZHOUHEES wH 20,000
e & 2el 300,618 302,574 A 1,956
101 @124 d| 21,136 20,013 1,123
04 JIZtHZ22NHSE+ 21,136 20,013 1,128
Olg® sZ2AE 22X B 21,136
=Jl=3 36,640 = 3H x 150 16,488
oFgd 36,6403 * 3% » 30 3,298
o 2+HAH| 3,000& » 3% » 150 1,350
201 Bt2 Al 217,272 196,335 20,937
01 AR 2teld| 30,030 16,130 13,900
Oget=8gHl 28,980
cHIIZ HESEAM MZ 110& = 10,0000H 1,100
oHEE EHIIZAM =2 17,000,000& 17,000
clHgd BE+ =2IAN =8
250,000& = 163 4,000
clHEH Xotr =2PAr=2 6,880
- AMEE 430,000& * 43| 1,720
- NEHEE 430,000& * 123l 5,160
Oogxt= 1,050
oc=ZRY HREAMEZ 350,000& + 3Z X 1,050
02 2244 187,242 180,205 7,037
Oz332= & HAl 68,540
SESPIRTE=, 52,800
-NEHEE 600,000& = 12& 7,200
-AMEE 3,800,000& = 128 45,600
oItARZ 40,000 = 128 480
ofdYSHAZ 30,000& » 12& 360
cioleER3 900,000& = 12& 10,800
oEHFIMHRES 500
-XHE 50,000& * 5CH * 23| 500
ocXsXEE= 600,000& * 6CH 3,600
(@)= 24,300
oMaUz Hitg 2¢
1,200& = 200 = 30£ » 1502 10,800
o2 HE®s P
1,200&  1CH » 752 » 150 13,500
OAEZE IS X 23,640
=&, JIHEH |sX&el
100,000& = 205 * 62 12,000
o A=Al 3,000,000& 3,000
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A BEESH
M HoI=EH
el HIIZ2 XM2AlE 2g2e

_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Aol ‘Oﬁ,‘\jg‘; Hws2
SHESHAANLE UREL
209 * 36,0000 * 122 8,640
Oxt | 70,762
o REH| 1,70720 * 4000 * 604 * 122 49,162
oIl 300,0002! * 604 * 128 21,600
202 04t 4,536 5,126 A590
01 2UH0I 8] 4,536 5,126 2590
OAMWYT ALEZ
81,0001 * 2% * 22 * 143] 4,536
206 M 2 bl 6,450 9,700 £3,250
01 T2t 6,450 9,700 £3,250
O&s+ HelNa A4E7Y 5,250
CEAYE 1,002 * 1,000kg 1,000
o IbE AL 1,000 * 1,000kg 1,000
cSHH 15,0008 * 150kg 2,250
curolors 2,0008 * 500kg 1,000
ONEE ystzs 2 6,00020 * 200X 1,200
307 21201 & 8,400 7,800 600
05 21292 8,400 7,800 600
ORI 22| & 700,009 * 122 8,400
401 Al & HI L 2 THY| 35,324 63,600 £28,276
01 Al&t] 35,000 60,000 225,000
OHJISHALE FHOIS BB I 5,000
ONESHY R S=H=L SHIAY 30,000
03 Al& S THHI 324 3,600 £3,276
ONSIHEE S22 ZUIAY 20l
30,000,000%! * 1.08/100 324
405 Xt &HE St 7,500 0 7,500
01 ML SEH S| 7,500 0 7,500
OJIZRNE tHat Y 50,0008 * 1CH 500
OB 238 RUFN 7Y
7,000,0002 * 1CH 7,000
AL Jls 22 Al 302, 160 302, 160 0
401 A2 HIL 2O 302, 160 302, 160 0
01 Al&H] 300,000 300,000 0
OAMWYE SHE SHY ZXSA(14)
300,000,002 300,000
03 Al& S THHI 2,160 2,160 0
OAMWYE SHY SHY SXBA 20|
300,000,002 * 0.72/100 2,160
SASZEIIS K 212,306 91,020 121,286
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D EEESH
S HIIEA
D HYIZE MelAld 22

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
201 LBr2g | 42,500 18,800 23,700
01 At 2teltl 32,100 3,000 29,100

OSASFHIIZ MUEH E2EA =2
250,000& * 23| 500
OSAE2FHIIZ2 MelAld FBIZA =5 1,600
OSAZFHIIZS M2AE dF)|=rtE 30,000
02 2=2gHl 10,400 15,800 A5,400
OZ2AE2FHIIZ2 MelAld HAZH|
1,200& = 1CH =304 = 150€ 5,400
OSA=FHIIZ2 MelAld FHl sX2e
50,000& » 108 = 10& 5,000
202 0dl 486 500 A4
01 =LHOd B 486 500 A4
SA=FHII= Mz =4
81,000& * 19 * 22 * 33| 486
206 M Z 8| 19,320 21,720 A2,400
01 M=l 19,320 21,720 A2,400
SAZIHIIE MelAld g7 19,320
o%F 300,000& * 12& 3,600
osg 29,000& * 430m’ 12,470
o OFHCH 6,500 = 5000H 3,250
401 A& HIZ 20HYI 150,000 50,000 100,000
01 Al &l 150,000 50,000 100,000
OSAZSFHIIE HM2AE AE e HHIAFY 150,000
MY HEAIE &XIALS 2,344,316 600,000 1,744,316
= 1,140,000
& 842,000
Al 362,316
201 L Bt2IH| 46,400 0 46,400
01 AR 2teld| 1,400 0 1,400
OFINBEAM S R3S Fo4Y
70,0003 * 108 * 23] 1,400
02 2223l 45,000 0 45,000
OHEAELETAY MEHHEMEES
2503 = 45,000m * 4H = 45,000
202 odl 2,916 0 2,916
01 SLHA b 2,916 0 2,916
OMdD| HEAE EXAE SRFA
81,000& * 2% * 22 = 93| 2,916
401 AlEHIZ 2 OHYI 15,000 0 15,000
01 A& HI 15,000 0 15,000
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SN
L EHDIE e
D HDIZ M2AE 2gue

I‘I iH
l:}‘ O|

S22

_ HE T
SN EB -GS - MBAY - BES arey e HRE2
ONBAIE SXAY 2XUH YSHHAL (2R
UAS OHHI) 3,000 * 5,000 15,000
403 X+ X EFHI S XH2 0l & 2,280,000 600,000 1,680,000
= 1,140,000
= 842,000
Al 298,000
02 DI 2SO0l CHEHTH & AR B 2,280,000 600,000 1,680,000
OMYIIHBAIL SXI ()AL 2,280,000
= 1,140,000
= 842,000
Al 298,000
HOIZ 22 A8 29 2,708,566 468,000 2,240,566
101 124t 21,680 0 21,680
04 JIAH2E2NS 2 21,680 0 21,680
O2ZAE SHFZAH 22 21,680
ESlEt= 36,6409 * 2% * 230 16,855
oXELY 36,6402 * 2% * 47 3,445
o 2bAlH| 3,000 * 2% * 2302 1,380
201 2Bre | 107,014 24,000 83,014
01 Ak 22l 23,900 0 23,900
OFTETES=] 23,900
SAAAM BH - YA 242 22,500
oFQINAOM AV BlolBALY
70,0008 * 108 « 23| 1,400
02 BB 83,114 24,000 59,114
OZZR2 2 MA 83,114
oAAAM RS 5,726,1008 » 128 68,714
oAANE MGEERE
1,200,008 * 122 14,400
207 SNl 100,000 0 100,000
01 1R A H| 100,000 0 100,000
OAZAE AS 82348 ASZTA 100,000
307 812+0| H 2,479,872 436,000 2,043,872
05 BI2teIEtE 2,479,872 436,000 2,043,872
OA2AIE SIS2H  206,656,0008 * 122 2,479,872
HHSAAH (BBLS ) 2,749,316 3,078,956 329,640
22| 2,714,104 3,036,276 A322,172
oz 2oyl 2,714,104 3,036,276 ~322,172
101 124t 2,714,104 3,036,276 ~322,172
03 RIHA22 R4 2,714,104 3,036,276 A322,172
OsZ0Iae 2% 2,119,300
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fA EESH
Y HH2YAH(#FES)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
=Jl=2g 712,377
-6~10 0 8t 1,093,380& = 189 » 12& 236,171
-11~15& 0| &t 1,169,750& = 199 » 12& 266,703
-16~20 0| 2t 1,280,330 » 2% » 123 30,728
-21~254 0| ¢t 1,338, 710& * 9% =123 144,581
-26~30 0| et 1,396,340% = 14 » 12& 16,757
-30E 01 & 1,453,040@ = 199 » 12& 17,437
SE =) 481,437
|2 176,165
- 6~10= 0/ et 837,700& * 18 = 43| 60,315
- 11~15& 0| ¢t 869,870 * 19H « 43| 66, 111
- 16~20= 0| et 925,160& * 2% * 43| 7,402
- 21~25E 0| et 954,350& * 9H = 43| 34,357
- 26~30E 0| et 983,170& * 1 = 43| 3,933
- 304801 & 1,011,520& » 198 * 43| 4,047
-d32 85,069
- 6~104 0/ et 753,930 * 18H * 23| 27,142
- 11~154 0/ et 869,870& * 19% * 23| 33,056
- 16~20E 0| et 925,160& * 2H = 23l 3,701
- 21~25E 0| et 954,350& * 9% * 23| 17,179
- 26~30 0| et 983,170& = 1H = 23| 1,967
- 30 0l & 1,011,520& » 198 * 23| 2,024
- & & 220,203
- 6~10& 0/ et 837,700& * 18% =« 53| 75,393
- 11~154& 0/ et 869,870& * 19% * 53| 82,638
- 16~20E 0| et 925,160& * 2H = 53| 9,252
- 21~25E 0| et 954,350& * 9H * 53| 42,946
- 26~30 0| et 983,170& * 1H * 53| 4,916
- 30801 & 1,011,520& = 1989 « 53| 5,058
ocExURY 90,000& » 50 * 123 54,000
ocXHTHASTY 70,000& = 50 * 123 42,000
oI ERY 43,200
-t <Xt 40,0003 * 5098 * 12& 24,000
-JIEHHE 20,0003 * 5098 * 1.6 = 128 19,200
oltH&dl =4 17,908
-=&u 51,9903 * 50 * 0.22 » 43| 2,288
-1SsW 433,880 * 508 * 0.18 * 43| 15,620
o=c|F 4| 351,699
—ZHUZ A 160,0002 = 50 » 12& 96,000
=JtH 2 &l 110,000& = 50 » 12& 66,000
-—WESE 4| 140,000@ * 509 » 12& 84,000
-HEF I 105,699
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SN B#ASSD
HE: #H2YAY (FFBSD)
el ol 2| (25 &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o Hnz2
- 6~1020/2  1,005,2408 * 189 * 23] 36, 189
- 11~15 0/ 8t
1,043,850 * 19% * 23l 39,667
£ 16~20A018F  1,110,1908 * 2% * 23] 4,441
- 212514010 1,145,2208 * 99 * 23] 20,614
. 26~300/0F 1,179,808 * 19 * 23 2,360
L 30H014  1,213,8208 « 1Y * 23] 2,428
cZNUDR4Y 277,877
NEE RN 121,258
6~10= 0/t
11,0409 * 182 * 208AI2t 41,334
- 11~15 0/ 8t
11,5471 = 198§ * 208AI 2t 45,634
£ 16201401 8t
12,2819 » 22 * 208AI2t 5,109
- 21~25\4 0 8t
12,668 * 9% * 208AI2t 23,715
2630140/ 8t
12,8472 * 1 * 208AI 2t 2,673
30E014 13,427 * 1 * 208AI2 2,793
-opt2R A g 7,378
6~10=0/ 0t
37348 « 2% * 6= * 30AI2F 1,345
- 11~15 0/ 8t
3,9178 * 2% » 62 * 30AI2¢ 1,411
£ 16201401 8t
4,0042 * 2% « 68 * 30AI2 1,474
- 21~25\4 0 8t
4,28090 * 2% + 62 * 30AI2 1,542
. 26~3014 0/ 8t
4,444 « 1 « 62 * 30AI2 800
- 30L 01 &
4,476%0 * 1% + 68 * 30AI2t 806
-FUaRLy 149,241
6~100/8F 88,3218 * 18Y * 32AI2 50,873
11~15 0] 8
92,376 * 198 * 32AI2¢ 56, 165
£ 16~20140/0F 98,2488 + 2  32AI 2 6,268
- 21~25\40 8t
101,3478 * 99 * 32AI2 29, 188
2630140/ 8t
102,776% * 19 » 32AI2t 3,289
30E014  107,4188 + 19 = 32AI2 3,438
cHNRIENSY 65,399
~6~1010/ 0 58,8812 * 182 * 18 19,078
~11~15& 0] 2* 61,5842 * 1988 * 21 24,573
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M BABED
A #H2AAH(BFES)
el elE 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
-16~20= 0 & 65,4983 * 2H x 23& 3,013
-21~25E 0] 8+ 67,565% » 9 » 25¢ 15,203
—-26~30% 0 8+ 69,605& » 1 » 25¢ 1,741
-30E 0] & 71,612 = 18 » 252 1,791
SPSEP Fals] 2,097,205,000& = 3.5/100 73,403
OXAX =& 100,000& = 2& * 128 2,400
Oztalt] 1,800& = 50 * 25¢ » 12 27,000
Od=ies 94,375
o ABXEYES  2,097,205,000& * 4.5/100 94,375
(@E=1-4="F= 2,097,205,000& * 1.5/100 31,459
OtEE = 2,097,205,000& = 3.6/100 75,500
OHZEE = 2,097,205,000% * 2.54/100 53,270
OLeFHIRALEEE  3,0008 * 509 « 128 1,800
OgZil=tad &H= 142,000,000& * 2 284,000
O=tZ 0133 1l=H| 25,000
oA 50,0008 * 50 * 5F 12,500
SRurak-l 50,000& = 50& = 23| 5,000
o=2&0tA3 30,000& * 50& = 53| 7,500
Jl=3l 35,212 42,680 AT ,468
Jl=&Hl 35,212 42,680 NT,468
201 YLet2 bl 28,752 33,240 ~4,488
01 AtR2telH 27,912 32,400 N4,488
ORANE2E JI=234l 4,800
ocgtFIIE 250,000& = 123 3,000
ocgtHAIE 150,000& = 12& 1,800
OAREE FL(SMXN &) 3,600
== 200,000& = 123 2,400
oEIANE 100,000& = 12& 1,200
OQ#HEMSID A28 F¢ 5,400
ocgtFIIE 300,000& = 7CH 23l 4,200
ocgtHAE 300,000& = 2CH = 23] 1,200
O=¢etl 14,112
== 7,000& = 18 » 7€ » 12F 10,584
oI ANE 7,0008 * 69 x 7 x 12 3,528
02 33244 840 840 0
ORER= 840
202 O4Hl 2,080 5,120 A3,040
01 2O 2,080 5,120 A3,040
Odlad2% 2o 2,080
203 ¥Rl 4,380 4,320 60
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CY =

=
£
N HES
2;]

el OIE I:IIC> - oA
SN I SRI(S) - NRAY - B sk S 2
0 & 24
04 RN2IHHR= 4,380 4,320 60
ORAN2IYR 365,000& = 12& 4,380
Hegs(sd23sm) 214,859 11,200 203,659
LHEAHHXI & 214,859 11,200 203,659
LHEHHRIZ 214,859 11,200 203,659
TR JIHES 214,859 11,200 203,659
01 JISdEZ 214,859 11,200 203,659
OHIISA2AAE F=EHIEXA 14,859
OHJI=SME FHINA 200,000
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